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JE{Z K4 FEHIFZI—X ouT IN GROSS
1 KA K HHAA-N 35 34 69
2T Wit B AEFF R 36 34 70
2T EAR BB ANZEEF 4 R 35 35 70
2T £H B 17 NI Ly 33 37 70
5T Zih i B~ R 36 35 71
5T =A AHBR &z HE 35 36 71
5T TR &K ARZEEF 4 R 36 35 71
5T X% BA A EE IR 36 35 71
5T HE B GMG/\EF 36 35 71
10 A =K 17 Unob Ly 37 35 72
11T INE &R BEFFY R 36 37 73
11T kK FAAER KHIYT NI 38 35 73
T {5k $—ER HEH 34 39 73
14T ARER %% HItE 36 38 74
14T thit & 7 Unub Ly 38 36 74
14T Bi5 8 ARZEEF 4 IR 37 37 74
14T ZEE &8k HEH 38 36 74
14T BE Ht ARZEEF 4 R 36 38 74
14T B ERE 7 Unub Ly 35 39 74
20T A Bt HEHARAY/-N 39 36 75
20T =18 & GMG/\EF 37 38 75
20T INFF B X REFFY R 37 38 75
20T L 5] ALl 36 39 75
20T Be BE 17 Nk Ly 35 40 75
20T Il HE {=Abg9b 38 37 75
20T ER ORI N—E=—EILR 38 37 75
20T R EzN w7 UnUN Lyl 39 36 75
20T b EN w7 UnUN Ly 38 37 75
29T Bt 7B GMG/\EF 38 38 76
29T ol =3 MBEE~ R 41 35 76
29T BE AX HFEHR 39 37 76
29T BEM XK AEFF~ R 40 36 76
29T S ¥RD N—E-—EIAR 39 37 76
29T =15 B 2-HoH 37 39 76
29T hE ER KHIYTNT 40 36 76
29T ¥2£H #IA BB, R 37 39 76
29T #HE BN £-H00 36 40 76
29T HE Bk A BE~ R 37 39 76
29T FHith —HR BB, R 38 38 76
29T EITE X5 £-HOH 38 38 76
20T =& BX %£-HOH 39 37 76
29T kil EE £-HOH 36 40 76
43T NI BHAAV-M 41 36 77
43T <5 lE—ER AEME 38 39 77
43T XHFE BT JGMEFH = 41 36 77
43T 1EE 2 HHAAV-M 39 38 77
43T KF {=Abgyb 38 39 77
43T BH BEX 7" UnUN Ly 40 37 77
43T Fi N w7 UnUN Lyl 37 40 77
43T iz EEH BEFFy R 36 41 77
43T kiE EiE GMG/\EF 40 37 77
43T hE Ei BBy R 39 38 77
43T s Z-HPH 37 40 77
43T NP4 AHEHNE 39 38 77
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43T =5 B =N 39 38 77
43T =t K ARZEEF 4 R 37 40 77
43T =4l ?%ﬂi N—EZ—EIR 40 37 77
43T iF —% N—E-—ELR 39 38 77
59T =t A £AHIYTIT 41 37 78
59T J\K %J’Jiﬁ B~ R 39 39 78
59T =25 Z8 GMG/\EF 42 36 78
59T (351 %"E BEFFy R 38 40 78
59T MT fiiF N—E-—EAR 38 40 78
59T EE BE 17 Unob Ly 39 39 78
59T ,an-,% | w7 Unuh Lyk 42 36 78
59T =ik B— FEHR 37 41 78
59T 2= Flth S A 41 37 78
59T Giche ML L ARZEEF 4 R 41 37 78
59T Al BHZ £-HOH 39 39 78
59T A5 EX FEH 40 38 78
59T ¥ 2= FEHR 38 40 78
59T e Kih 17 Nk Ly 43 35 78
59T AR Mg KHIYT NI 40 38 78
74T fEE _#ik HEHR 42 37 79
74T =R EA £-H00 43 36 79
74T WE R £-Hord 37 42 79
74T KiZ HE =4, 39 40 79
74T K& H—H {=Ab9yb 42 37 79
74T HEB B N—E=—ELR 38 41 79
74T WA 3R BEH~R 42 37 79
74T e W =23 2-HoH 39 40 79
74T By #2 %)?I £t 40 39 79
74T TE Rt HIE 39 40 79
74T XFt ANt 7 //w Lyb 36 43 79
74T B BX BB R 40 39 79
74T g K 2-Hood 42 37 79
87T Hh M= KHIYT NI 40 40 80
87T ZH E KHIYT NI 40 40 80
87T AHH F— HIAE 40 40 80
87T EH Tk GMG/\EF 41 39 80
87T FH AKX HItE 42 38 80
87T Bk = HnEH 42 38 80
87T TR E HEHR 38 42 80
81T = EX HnEH 40 40 80
81T = EA HEHR 39 41 80
81T FE A 5 %£-HOH 41 39 80
87T Hf #= £-Hord 40 40 80
87T BAR _E=— £-H00 42 38 80
81T & _RIL KHIYTIT 40 40 80
87T Il === BItE 41 39 80
87T B/E X GMG/\EF 39 41 80
87T FI_EX AL 40 40 80
87T &= FH HEH 41 39 80
87T Nt KHIYT NI 38 42 80
87T B i HItE 41 39 80
106T BIE FE HEHR 41 40 81
106T RE BN 7" UnUN Lyl 39 42 81
106T it E1E £-Ho0H 39 42 81
106T FEH EX £-HooH 40 41 81
106T JILE X GMG/\EF 40 41 81
106T BEX #2 £HIYT NI 42 39 81
106T P =Y NE-—EIR 42 39 81
106T AKX _# HEHR 43 38 81
106T Bt KE KHIYT NI 45 36 81
106T [DEEE GMG/\EF 41 40 81
106T LIE BEXR {=Akyb 40 41 81
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106T ES S £-Hr0 41 40 81
106T =& A N—EZ—EILR 40 41 81
119T INFIE SR N—E=—ELR 44 38 82
119T =F B {=Abgyb 43 39 82
119T INEF &l 2-HH 42 40 82
119T BEAR 2X GMG/\EF 41 41 82
119T =B % MBS R 45 37 82
119T rhig IF KER FEFR 44 38 82
119T g A& KHIYT NI 42 40 82
119T dtim SR GMG/\EF 40 42 82
119T JE;T X GMG/\EF 44 38 82
119T = A FEHR 42 40 82
119T BR NF {=AFyyb 42 40 82
119T EE EX KHIYT NI 44 38 82
131T F T I \NRLyYR 40 43 83
131T I\XKE _BHE JGMFHE 41 42 83
131T it E—ER GMG/\EF 43 40 83
131T Ef Kih ARZEEF 4 R 37 46 83
131T BHiE == FEHR 44 39 83
1317 =8 K N—E=—ELR 43 40 83
131T INL FTHh £-H00 45 38 83
131T Al ®5F N—E=—EIR 43 40 83
131T et B— GMG/\EF 38 45 83
140T BTH E= HEHR 39 45 84
140T B &1 HEHR 43 41 84
140T iH EH GMG/\EF 42 42 84
140T FHE_ R HItE 46 38 84
140T MEEA L2H0O0 41 43 84
140T it i £-HoH 40 44 84
140T $E M= KHIYT T 42 42 84
140T =N C GMG/\EF 40 44 84
140T x5 BE £-5H0H 45 39 84
140T hir f#sh £HIYT NI 44 40 84
150T Fr &R KHIYTNT 43 42 85
150T JI[ig R & NEZ—EILR 43 42 85
150T AL BE {=AFyb 42 43 85
150T HE B JGMFHE 39 46 85
154T XA & {=Akyb 43 43 86
154T mA = £-H00 44 42 86
154T NE A GMG/\EF 43 43 86
154T WH #4504 FEHR 43 43 86
154T h £ A BE~ R 44 42 86
159T b BEFE £-H0H 44 43 87
159T B Ol £HIYTIT 43 44 87
1597 EH S - BHPH 46 a1 87
159T B EA BIE 46 41 87
159T B BxE HmEH 42 45 87
164T AFT ETA KHIYT NI 43 45 88
164T BEXR B GMG/\EF 49 39 88
164T fRE ETi 2-Hod 44 44 88
164T % A KHIYTIT 44 44 88
164T BRE f— NEZ—EILAR 47 41 88
164T xXFE B— N—E_—EIR 45 43 88
170T £ KER GMG/\EF 44 45 89
170T ARG AEFSIR 47 42 89
170T tRE HA| N—EZ—FEIR 48 41 89
173T INFR = GMG/\EF 46 44 90
173T HO #— {—=Abyyb 43 47 90
173T Faft #oBA KHIYT NI 45 45 90
173T EHE F— £-H0H 46 44 90
177T ¥ﬁ T BE KHIYT NI 48 43 91
177T EJE FOR AMEE SR 43 48 91
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179 (A B N—EZ—FLR 49 43 92
180T IE BE AIAE 43 50 93
180T ik IER 17 ynUk Ly 43 50 93
182 BIE ZE{E JGMFHE 48 46 94
183 HWH HiLa N—E=—EIR 51 45 96
ZiE #i5 & KHIYT NI - - -
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